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HMHHEAZAR F*F-2101-1 -126544.625 42917.164 63.501 F*23-2
HMTMEARZ AR FF-2101-2 -126552.002 42979.080 62.756 F*23-2
HMHHEARAZAR F*F*-2102-1 -126482.560 42955.781 62.859 F*13-4
HMTMEARZ AR FF-2102-2 -126503.282 42987.460 62.357 F*23-2
HMHHEAZAR FF-2102-3 -126517.530 43023.763 61.935 F*23-2
HMTMEARZAHR FF-2103-1 -126554.929 43064.954 62.435 F*24-1
HMHHEAZAR FF*-2104-1 -126407.613 43080.227 61.709 F*14-3
HMTMEARZAHR FF-2104-2 -126464.407 43076.215 61.910 F*14-3
HMHHEAZAR FF*-2105-1 -126597.656 43085.817 62.423 F*24-1
HMTMEARZ AR FF-2106-1 -126660.212 43093.843 61.433 F*24-3
HMHHEAZAR FF-2107-1 -126592.471 43168.210 61.460 F*24-1
HMTMEARZ AR FF-2108-1 -126551.631 43120.361 61.730 F*24-1
HMHHEAZAR FF*-2108-2 -126543.117 43163.004 61.088 F*24-1
HMTMEARZ AR FF-2109-1 -126545.803 43258.042 59.330 F*24-2
HMHHEAZAR FF-2110-1 -126655.009 43212.181 60.531 F*24-3
HMTMEARZAHR FF-2111-1 -126597.388 43287.382 59.489 F*24-2
HMHHEAZAR FF-2112-1 -126556.385 43321.646 58.414 F*24-2
HMTBEARZAHR FF-2112-2 -126548.615 43361.750 57.918 F*24-2
HMHHEAZAR FF-2113-1 -126660.710 43321.284 59.250 F*24-4
MTMEARZAHR FF-2113-2 -126668.751 43375.990 58.534 F*24-4
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HMHHEAZAR FF-2115-1 -126608.311 43425.522 58.027 F*25-1
HMTMEARZ AR FF-2116-1 -126564.222 43480.174 56.442 F*25-1
HMHHEAZAR FF-2116-2 -126552.886 43519.906 55.828 F*25-1
HMTMEARZ AR FF-2116-3 -126561.680 43558.959 55.187 F*25-1
HMHHEAZAR FF-2117-1 -126610.828 43590.351 54.413 F*25-2
HMTMEARZAHR FF-2119-1 -126658.772 43509.221 55.985 F*25-3
HMHHEAZAR FF-2119-2 -126655.106 43558.481 54.029 F*25-3
HMTMEARZAHR FF-2121-1 -126285.988 43311.786 58.611 F*14-2
HMHHEAZAR FF-2123-1 -126318.557 43330.697 59.050 F14-2
HMTMEARZ AR FF-2123-2 -126324.529 43301.493 59.359 F*14-2
HMHHEAZAR F'F-2124-1 -126415.385 43290.588 59.330 F14-4
HMTMEARZ AR FF-2124-2 -126402.767 43351.064 58.616 F*14-4
HMHHEAZAR FF*-2125-1 -126351.551 43355.046 58.431 F*14-2
HMTMEARZ AR FF-2125-2 -126339.515 43383.137 57.829 F*14-2
HMTHMERZHR FF-2126-1 -126320.202 43399.186 57.368 F*14-2
HMTMEARZAHR FF-2127-1 -126353.121 43465.027 56.257 F*15-1
HMHHEAZAR FF-2129-1 -126440.818 43422.935 54.668 F*15-3
HMTBEARZAHR FF-2129-2 -126463.213 43413.599 53.762 F*15-3
HMHHEAZAR FF-2129-3 -126500.594 43408.427 54.949 F*25-1
MTMEARZAHR FF-2129-4 -126528.079 43414.245 56.218 F*25-1
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HMTHMERZAR F°F*-2130-1 -126289.544 43567.871 54524 F*15-1
HMHEHBEARLHR F*F*-2130-2 -126325.106 43549.195 54.682 F*15-1
HMTHMERZAR FF-2131-1 -126323.854 43076.868 61.158 F*14-1
HMHEHBEARLHR F*F-2132-1 -126318.236 43040.746 61.477 F*13-2
HMTHMEARZ AR FF-2132-2 -126364.018 43004.885 62.239 F*13-2
HHHEARAZAS F°F-2132-3 -126397.788 42983.764 62.695 F*13-4
HMTHMEARZHR FF-2132-4 -126430.022 42956.611 63.048 F*13-4
HHHEARALZASR FG*-21-1 -126365.607 43593.757 53.903 F*15-2
HMTHMERZAR FG-21-2 -126372.257 43659.576 53.300 F*15-2
HMHEHBEARLHR F°G-21-3 -126379.772 43733.049 52.520 F*15-4
HMTHMERZAR F°G*-22-1 -126523.751 43629.049 53.508 F*25-2
HHEHBEARLHR F*G*-22-2 -126498.757 43674.208 52.557 F*15-4
HMTHMERZAR F°G*-22-3 -126457.809 43711.101 52.116 F*15-4
HHHEALZAR FG-22-4 -126438.935 43748.625 51.931 F*15-4
HMHEHBEARLHR RF°-21-1 -126193.104 42976.155 58.923 R:53-4
MTMEARZ AR RF-21-2 -126256.326 42963.089 61.611 F*13-2
HMTHMERZAR RF-21-3 -126316.839 42951.816 62.465 F*13-2
HHHMEAZAR RF*-21-4 -126377.641 42940.280 63.004 F*13-4
EHHHEARALAR RF*-21-5 -126433.871 42926.535 63.205 F*13-4
MTBEARZAHR R*F°-22-1 -126200.075 43024.256 59.404 R*53-4
HMTHMERZAR R*F°-22-2 -126246.458 43049.682 60.983 R*53-4
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HHMHMERLS AR R?F-23-1 -126130.753 43204.125 59.870 R’54-3
HMTHMEARZHR R:F*-23-2 -126175.471 43162.992 60.385 R:54-3
HHMERLZAR RF*-23-3 -126205.234 43127.805 60.788 R*54-3
MAHMERLAR RF-23-4 -126241.650 43091.815 61.106 R’54-3
HHAMERLS AR RF*-24-1 -126169.945 43321.828 58.794 R’54-4
HMTHMERLZHR RF*-24-2 -126220.780 43298.353 59.061 R’54-4
HMHMERLZAR R*F*-24-3 -126244.830 43284.433 58.954 R*54-4
MAHERLAR RF*-25-1 -126217.822 43331.790 58.534 R’54-4
HHMAMERLS AR RF*-26-1 -126268.789 43422918 55.725 F*15-1
HMTHMEARZHR RF-27-1 -126252.896 43482.772 55.000 F*15-1
HMHEHBEARLHR RF-27-2 -126253.636 43533.795 56.698 F*15-1
MAHERLAR RF*-28-1 -126232.802 43612.263 54.050 R’55-4
HMHIHMERLS AR RR™-21-1 -125985.787 43470.640 53.849 R’45-3
HMTHMEARZHR RR*-24-1 -126026.005 43293.258 57.015 R’54-2
HHMERLZAR RR*-24-2 -126030.474 43221.633 58.923 R*54-1
MAHERLAR RR*-25-1 -126041.614 43121.917 58.195 R*54-1
HHMAMERLS AR R*R*-25-2 -126057.839 43066.896 55.358 R’54-1
HMTHMEARZHR R*R*-25-3 -126065.542 43027.960 54.906 R’53-2
HHMERLZAR RR*-25-4 -126088.128 43022.483 54.776 R53-2
MAHMERLAR RR*-25-5 -126108.898 43007.407 54.811 R’53-2
MAMERLA R RR*-26-1 -126084.656 43218.068 59.531 R*54-1
HMTHMEARZHR R:R*-27-1 -126035.315 43332.423 57.593 R?54-2
HHMERLZAR R:R*-27-2 -126049.766 43298.879 58.483 R*54-2
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HMHEHBEARLHR R:R*-27-3 -126063.253 43261.696 59.105 R:54-2
MAHMERLAR R*R*-28-1 -126120.740 43289.648 59.322 R’54-2
HMHIAMERLS AR R*R™-29-1 -126094.136 43381.858 57.527 R’54-2
HMTHMEARZHR RR*-29-2 -126098.558 43358.662 58.420 R’54-2
HHMERLZAR R*R*-29-3 -126122.311 43346.910 58.440 R*54-2
HMAHMERLAR RR*-212-1 -126208.339 43410.516 57.609 R’55-3
HHMAMERLS AR RR*-213-1 -126095.845 43429.473 56.969 R*55-1
HMTHMEARZHR R:R*-213-2 -126142.753 43421.020 57.583 R:55-3
HHMERLZAR R:R*-214-1 -126200.602 43482.355 54.140 R*55-3
MAHERLAR RR*-214-2 -126174.072 43506.867 53.338 R’55-3
HMHIHMERLS AR RR*-214-3 -126192.276 43540.748 53.294 R*55-3
HMTHMEARZHR R'R*-214-4 -126197.692 43602.772 53.585 R:55-4
HMHEHBEARLHR F*3253 -126541.201 43038.563 62.337 F*23-2
MAHERLAR F3254 -126553.718 43201.556 60.542 F*24-1
HHAMERLS AR F*3255 -126662.626 43158.776 61.118 F*24-3
HMTHMERZHR F*3256 -126550.114 43429.997 56.935 F*25-1
HMHEHMEARLHR F3257 -126666.449 43432.221 57.811 F*25-3
HMTHMERZHR F*3258 -126260.948 43317.787 58.764 F14-2
MAHMERLAR F*3259 -126290.636 43336.297 57.363 F*14-2
HMTHMERLZHR F*3260 -126280.618 43386.639 56.438 F14-2
MAHERLAR F3261 -126360.259 43282.825 59.618 F*14-2
MAHERLAR F3262 -126387.590 43413.712 56.867 F*15-3
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HMHEHBEARLHR F*3263 -126260.938 43592.795 54.289 F*15-2
MAHERLAR F3264 -126554.721 43588.383 54.495 F*25-2
HHAMERLS AR F*3265 -126653.114 43596.074 52.914 F*25-4
MAHERLAR R3Z 1 -126039.105 43424.384 55.991 R*55-1
HMTHMEARZHR R:3Z2 -126034.884 43385.562 56.498 R’54-2
MAHMERLAR R3Z3 -126020.458 43337.247 57.183 R*54-2
HMTHMEARZHR R:3Z 4 -126039.718 43166.436 58.777 R*54-1
MAHMERLAR R3Z5 -126158.301 43010.606 57.246 R*53-4
HMTHMEARZHR R:%6 -126149.255 43332.203 58.548 R’54-4
HMTMEARZ AR R3Z7 -126179.766 43367.399 58.005 R*54-4
HMTHMEARZHR R'%Z8 -126232.956 43457.315 54.800 R*55-3
HMTMEARZ AR R:3Z9 -126200.158 43634.547 53.844 R*55-4
ERTER R RS = FF-413-1 -126332.336 43420.647 F*15-1
BT ERE AHER = F*F*-415-1 -126327.679 43365.481 F*14-2
EBTERE AHEED = FF-416-1 -126342.345 43293.788 F14-2
ZRTHERE AHER = FF-423-1 -126367.594 43346.864 F*14-2
ERTER R RS = F*F*-424—-1 -126386.311 43347.758 F*14-4
R AR E AHEER = FF-427-1 -126644.323 43480.231 F*25-3
BT SR EAHIER = FF*-428-1 -126595.970 43555.221 F*25-1
ZRTHERE AHER = FF-429-1 -126614.952 43525.599 F*25-1
EBTHERE AHER = FF-431-1 -126354.981 43077.883 F*14-1
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ETERE A HIED = FF-431-2 -126395.173 43028.813 F13-4
ZRTHEREL AHER = F°F-431-3 -126418.872 42993.847 F*13-4
ZBTH AR E AHER = FF-431-4 -126448.160 42963.607 F*13-4
EBTIERE A KA = F*F-431-5 -126453.565 42941.684 F*13-4
ETERE AHIED = FF-432-1 -126646.931 43126.179 F*24-3
ZRTHERE AHER = F*F*-432-2 -126591.217 43127.311 F*24-1
EBTH AR E AHER = F*F*-433-1 -126283.568 43498.771 F*15-1
BT ERE AHEER = F*F*-433-2 -126290.519 43537.226 F*15-1
EBTERE AHEED = F*F*-434-1 -126316.063 43456.351 F*15-1
ZRTERE AHER = F*F*-434-2 -126316.212 43493.577 F*15-1
EBTERE A HEEDR = FPF-2111-1-A -126597.120 43241.624 F*24-2
ZBTH AR AHER = F'F-2111-1-B -126600.569 43316.436 F*24-2
EBTERE A HEEDR = RF-41-1 -126246.213 43136.955 R:54-3
ZBTH AR E AHER = RF-41-2 -126250.287 43162.807 F*14-1
ETERE AHIED = RF*-41-3 -126257.233 43191.011 F*14-1
ZBTH AR AHER = RF-41-4 -126222.043 43200.119 R*54-3
EBTERE AHEED = R:F*-41-5 -126222.545 43229.937 R’54-4
EBTHERE AHER = R:F-41-6 -126232.214 43253.046 R*54-4
TSR EAHIER = RF°-41-7 -126250.043 43258.805 F*14-2
EBTH AR E AHER = R*F*-41-8 -126262.797 43293.956 F*14-2
ETERE AHEED = RF-41-9 -126280.624 43291.420 F14-2
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ZBTH AR EAHER = RF*-41-5-A -126223.056 43212.713 R*54-3
EBTH AR EAHER = R:R*-41-1 -126101.783 43238.785 R*54-2
BT ERE AHEER = R:R*-41-2 -126152.236 43260.408 R*54-4
ETERE A HEEDR = R:R*-41-3 -126174.005 43270.456 R’54-4
ZRTHERE AR = R:R*-41-4 -126206.412 43280.180 R*54-4
ZBTH AR AHER = R:R*-43-1 -126224.866 43545.762 R*55-3
BT ERE AHEER = R:R*-42-1 -126145.331 43636.573 R*55-4
EBTERE A HEEDR = R:R*-42-2 -126162.173 43622.015 R’55-4
ZRTHEREL AHER = R*R*-43-2 -126225.228 43580.054 R*55-4
ZBTHERE AHER = R:R*-41-3-A -126170.071 43255.237 R*54-4
BT ERE AHER = R:R*-41-4-A -126202.121 43260.740 R*54-4
EBTERE KA = 10A39-A -126627.491 43284.649 F°24-4
ZRTHERE AHER = 10A44-A -126486.401 42900.229 F*13-4
ZBTH AR E AHER = 10A45-A -126513.358 42877.625 F*23-2
ZRTHERE AHER = F*3266 -126280.383 43460.111 F*15-1
BT ERE AHER = F3268 -126334.648 43331.864 F*14-2
EHERE AHEED = F*3269 -126382.893 43283.663 F14-4
BT ERE AHEER = F3X70 -126398.463 43287.068 F*14-4
BT ERE AHEER = F3X71 -126356.027 43400.061 F*15-1
EBTHERE AHER = F3272 -126371.740 43403.383 F*15-1
EBTH AR E AHER = F3273 -126602.431 43481.988 F*25-1
BT ERE AHER = 374 -126619.418 43479.466 F*25-1
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AT EREAHMER = F*3275 -126615.925 43561.693 F°25—1

TSR E A S F*3576 -126309.102 43435.298 F*15-1

AT EREAMER = R*ZZ5-A -126147.367 43025.374 R:53-4

TSR E RIS = R*3%Z5-B -126125.450 43039.505 R?53-4

T ERE AR = R 7-A -126146.015 43390.136 R?54-4

T EP R AHER s R*3210 -126219.106 43512.027 R?55-3




